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N: No Output Linearization (OL) data in File (F), Startup (S) or DeviceA{)e LaserWriter 12-840

Equality of grey series by four grey definitions (Yes/No decision)
Layout example: 16 step grey series with four grey definitignge LaserWriter 12-640

| EEEEEEEEEEEEEEEE There are two basic colours on each page:

000000000000 0000 Black N and White W in mean grey backgrou

L LTI T There areadjacent wpper u)

almm's'a alas alals's s s aln and separate grey samples (lower row).

e This gives eight grey series.
L L LI L[] ][]

In each colunme the four adjacent greys
HE RN

should be equal.
Al L]

The four grey series are defined by four
LRI RIS ORISR N RN different PS-operators.
Black N 16 steps

White W
This test uses only the four upper adjacent grey series N-W.
For the upper grey series and in each columne the four greys should be ealli&héot 6 steps.
Are in each columne the four greys for all the 16 steps equal? underline:_Yes/No
Only in case of "No": inapplicable

Is row no. 3 most different compared to all others ?

Are the series no. 1, no. 2, and no. 4 equal?

Only in case of "No™:

Are the rows no. 2 and no. 4 equal ? underline: Yes/No

RemarksPS or PDF output of test chart 1 according to DIN 33872-3; PS printer
or software: Adobe Acrobat, version 8; Windows Vista or Mac OS 10.6

underline: Yes/Ng
underline: Yes/N

Equality of grey series by four grey definitions (Yes/No decision)
Layout example: 16 step grey series with four grey definitidsColor Laserjet CP1514n

| EEEEEEEEEEEEEEEE There are two basic colours on each page:

0000000000000 O0O0 Black N and White W in mean grey backgrou

LI [ TTTTTT  There areadjacent wover i)

aa'a sl 'ala'nalnsln alas and separate grey samples (lower row).

e This gives eight grey series.
LI LI L] [ [ ] ][]

In each colunme the four adjacent greys
HEEEEEEEENEE. e

should be equal.
bl ]

The four grey series are defined by four
OO RCC RN OO RN different PS-operators.
Black N 16 steps

White W
This test uses only the four upper adjacent grey series N-W.
For the upper grey series and in each columne the four greys should be eglidhéoi6 steps.
Are in each columne the four greys for all the 16 steps equal? underline: Yes/No
Only in case of "No":

Is row no. 3 most different compared to all others ?

Are the series no. 1, no. 2, and no. 4 equal?

Only in case of "No":

Are the rows no. 2 and no. 4 equal ? underline: Yes/No

RemarksPS or PDF output of test chart 1 according to DIN 33872-3; PS printer
or software: Adobe Acrobat, version 8; Windows Vista or Mac OS 10.6

underline: Yes/Ng
underline;_Yes/N

Part 1 LE930-3, Del130-3

Part 3 LE931-3, Del31-3

Discriminability of 16 step grey series by four grey definitions (Yes/No decision)
Layout example: 16 step grey series with four grey definitigmse LaserWriter 12-640
There are two basic colours on each page:

1 000000000000 0000 Black N and White W in mean grey backgrou
e There are adjacent (upper row)
2 !!!!!!!!!!!!!!!! and separate grey samples (lower row).
e This gives eight grey series.
LI LI I [ [ [ 1] 1] Theadjacentand separated are identical.
Nemmmannmeeneeen Separated greys are less distiguishable.
4 HEEEEEEEEEEEEEEE Any grey cologr is defined by four different
CICRCRCIC OO OO PS-operators in four rows
Black N 16 steps, 15 differences White W
All the 16 steps of the eight series N-W should be distinguishable
Are all 15 grey differences of the eight rows distinguishable? underline._Yes/No
Only in case of "No": inapplicable
Test of adjacent grey samples (four upper rows):
Are the 15 grey differences of the four series distinguishable? underline: Yes/N
Only in case of "No":
Are the 15 grey differences of series no. 1 distinguishable? underline: Yes/N
Are the 15 grey differences of series no. 2 distinguishable? underline: Yes/N
Are the 15 grey differences of series no. 3 distinguishable? underline: Yes/N
Are the 15 grey differences of series no. 4 distinguishable? underline: Yes/N

RemarksPS or PDF output of test chart 1 according to DIN 33872-3; PS printer

or software: Adobe Acrobat, version 8; Windows Vista or Mac OS 10.6

Discriminability of 16 step grey series by four grey definitions (Yes/No decision)
Layout example: 16 step grey series with four grey definitiésColor Laserjet CP1514n
There are two basic colours on each page:
Black N and White W in mean grey backgrou
There are adjacent (upper row)
and separate grey samples (lower row).
This gives eight grey series.
The adjacent and separated are identical.
Separated greys are less distiguishable.
Any grey colour is defined by four different
PS-operators in four rows

Black N 16 steps, 15 differences White W
All the 16 steps of the eight series N-W should be distinguishable
Are all 15 grey differences of the eight rows distinguishable?
Only in case of "No":
Test of adjacent grey samples (four upper rows):
Are the 15 grey differences of the four series distinguishable?
Only in case of "No":
Are the 15 grey differences of series no. 1 distinguishable?
Are the 15 grey differences of series no. 2 distinguishable?
Are the 15 grey differences of series no. 3 distinguishable? underline: Yes/N
Are the 15 grey differences of series no. 4 distinguishable? underline:_Yes/N
RemarksPS or PDF output of test chart 1 according to DIN 33872-3; PS printer
or software: Adobe Acrobat, version 8; Windows Vista or Mac OS 10.6
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underline: Yes/No

underline:_Yes/N

underline: Yes/N
underline:_Yes/N
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Part 2 LE930-7, De131-3
Two printer outputs, Equality of colour scales

Discriminability of colour scales (Two Yes/No decisions)
] M Y [0]

Part 4 LE931-7, Del131-7
input: rgb (—>olv*) setrgbcolor

output: no change compared to in
L \Y
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